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Contact Honeywell

To learn more about the benefits of
Honeywell refrigerants for your next project,
call 1-800-631-8138 or visit

www.honeywell-refrigerants.com.

Honeywell Advanced Materials
115 Tabor Road

Morris Plains, NJ 07950
honeywell-refrigerants.com

G525-713 | August 2017
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PTCHARTFOR
GENETRON PERFORMAX® LT

New Pressure-based Charts Make
Calculating Glide Easier



GENETRON PERFORMAX' LT (R-407F)

Temperature Temperature
Pressure (psig) oF Pressure (psig) oF
Avg Bubble Dew Avg Bubble Dew
0.0 -45.2 -50.9 -39.4 46.0 155 104 20.7
10 -42.7 -48.5 -37.0 49.0 180 128 231
2.0 -40.4 -46.1 -34.7 520 20.3 152 255
3.0 -38.2 -43.9 -32.5 55.0 22.6 175 21.7
4.0 -36.1 -41.8 -30.5 59.0 255 204 30.6
5.0 -34.1 -39.8 -285 63.0 283 232 333
6.0 -32.2 -37.8 -26.5 67.0 310 259 36.0
7.0 -30.3 -36.0 -24.7 83.0 40.8 359 457
8.0 -28.5 -34.1 -22.9 101.0 505 457 55.3
9.0 -26.8 -32.4 -21.2 1210 60.0 55.3 64.7
10.0 -25.1 -30.7 -19.5 142.0 68.9 64.3 3.4
110 -23.5 -29.1 -17.9 154.0 73.6 69.1 78.1
120 -219 =275 -16.4 167.0 78.4 4.0 828
130 -20.4 -25.9 -14.8 181.0 83.3 789 87.6
140 -189 -24.4 -13.4 196.0 88.3 84.0 925
16.0 -16.0 -215 -10.5 212.0 933 89.1 97.5
18.0 -133 -18.8 -7.8 229.0 98.3 94.2 102.4
20.0 -10.7 -16.2 -53 246.0 103.1 99.1 107.1
220 -8.2 -13.7 -2.8 264.0 1079 104.0 1118
24.0 -5.8 -113 -0.4 284.0 113.0 109.2 116.8
26.0 -36 -89 18 304.0 1178 1141 1215
28.0 -1.4 -6.7 4.0 325.0 122.7 119.1 126.3
29.0 -0.3 -5.6 51 348.0 1277 1242 1312
310 18 -35 7.1 349.0 1279 1245 1314
34.0 4.8 -05 101 372.0 132.7 1294 136.0
37.0 7.7 2.4 129 397.0 137.7 1345 1409
40.0 104 5.2 157 423.0 142.6 1395 145.6
430 130 7.8 182 450.0 1475 1446 150.3
Charge Calculation
Product ASHRAE Number Refrigerant Type Refrigerant Class | Lubricant Used* Ug%ig)Pnggw
Genetron Performax LT R-407F Blend HFC HFC POE 69.3
Genetron® 22 R-22 Single Component HCFC MO 739
Genetron 404A R-404A Blend HFC HFC POE 64.7
Genetron AZ-50° R-507 Azeotrope HFC HFC POE 64.9
Genetron 408A R-408A Blend HCFC HCFC AB 65.7
Genetron AZ-50° R-507 Azeotrope HFC HFC POE 64.9
Genetron HP8O R-402A Blend HCFC HCFC AB 71

*POE = polyol ester, MO = mineral oil, AB = Alkylbenzene ** Divide by 7.48 to convert to lbs/gal.
tUS. production stopped Dec. 31, 1995.

When retrofitting a system with a new refrigerant, use this formula to determine amount needed:
Pounds of new refrigerant = Pounds of original refrigerant x density of new refrigerant (at 80°F)
density of original refrigerant (at 80° F).

EXAMPLE
If you were using 1,000 pounds of R-22, you'll need about 938 pounds of R-407F, as follows:
Pounds of R-407F = 1.000x 69.3 = 69.300 =938

739 739
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